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1 MARK QUESTIONS

(Understanding)

. Find the centre of the cirlce x* +)* —4x—y—-5=0
. Find the centre of the cirlce 3x* +3y” —6x—12y—-2=0

. Find the radius of the circle x* + 3> —4x—y—-5=0

If theradius of thecircle x* + > +4x —2y —k =0 is 4 units find .

. If x> +y* —4x—8y+ k = O represents a point circle find k.

5
If the radius of the circle x* + y*> —2x+3y+ k=0 is 5> find k.

Show that the circle x* + y” +4x—3y+4=0 touches x - axis
Show that the circle x* +y* —x+4y+4=0 touches y - axis
Show that the circle x> + y* —2x+2y +1=0 touches both the co-ordinate axes.

Find the equation of the circle with centre (1, 1) and r= /2 units.

Find equation of circle given centre ¢ (—1,-2) and diameter » = 25 units
Write the equation of a point circle with centre at (1, 0).
Find the other end of the diameter of the circle x? + y* =25 if one end is (5, 0).

Find the length of the chord of the circle x* + y* —6x+15y—16=0 intercepted by the

X — axis.

Find the length of the chord of the circle x* +y* +3x—y—6=0 intercepted by the y —

axis.
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BASIC MATHEMATICS

Find the length of the chord of the circle x> + y* +3x —2 =0 intercepted by y axis

If one end of the diameter of the circle x* + y* +2x+6y—22=0 is (3, —7), find the co-
ordinate of the other end.

Find the centre and radius of the following circles. 2x* +2y° +6x—10y+9=0

Find the equation of the circle with centre (-2, —1) and the radius is 2.

Find the equation of the circle which cuts intercepts of the lengths ‘a’ and ‘6’ on axes and
passing through the origin.

if x*+)* +ax+2y+5=0 is find a point circle 'a'.

2 MARKS QUESTIONS

(Understanding)

. Find the equation of circle two of the diameters are x + y = 6 and x + 2y = 4 and its radius

is 10 units.

Find the equation of circle two of the diameters x + y =4 and x — y =2 and passing through the
point (2,—1)

Find the equation of the circle with centre at (-2, 1) and passing through the origin.

. Find equation of circle having A(5, 1) and B(1,3) as end points of its daimeter.

. If one end of the diameter of the circle x* +y> +2x+6y—22=0 is (3, —7), find the co-

ordinate of the other end.
Find the equation of the circle whose centre is same as the centre of the circle

x+y° +6x+2y+1=0, and passing through the point (-2, —1).

. Find the equation of the circle whose centre is (-2, 3) and passing through the centre of the

circle x* +y* —6x+4y+9=0.
Find the length of the chord of the circle x* + y* —6x—4y —12=0 on the coordinate axes.

Find the length of the chord intercepted by the circle x* + > —8x —6y —6 =0 and the line
x=7y-8=0

Show that the line 3x — 4y + 6 =0 touches the circle x* + > —6x+10y—15=0.
Find the centre and radius of the circle x* + y* —2x. cosa—2y.sina=1

Prove that the length of the chord x+2y =35 of the circle x* + y* =9 is 4 units.
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5 MARKS QUESTIONS

(Application)

. Find the equation of the circle passing through the origin, having its centre on the x - axis and

radius 2 units.

Find the equation of the circle passing through (2,3) having its centre on the x - axis and
radius 5 units.

. Find the equation of'the circle find the equation of the circle passing through the points (5,1),

(3,4) and has its centre on the x - axis.

Find the equation of the circle passing through the points (-1, 2) and (3,-2), and has its
centre on x = 2y.

Find the equation of the circle passing through the points (0,2), (3,0), (3,2)

Find the equation of the circle passing through the points (1,1), (-2,2), (=6,0)

Find the equation of the circle passing through the points (5,7, (6,6), (2,-2)

Find kifthe line 3x+ y + k = 0 touches thecircle x* + y* —2x—4y—-5=0

Find the equation of the circle passing through the points (0,0) and (1,1) and has its centre on
X-axis.

Find the equation of the circle passing through the points (5,3), (1,5) and (3, -1).

Find equation of circle passing through the points (1, 2) and (2, 1) and having centre on y-axis.
Find equation of circle passing through the points (0, —3) and (0, 5) and having centre on the
linex—-2y+5=0.

Find the equation of circle passing through the points (1, 1) and (2, 2) and having radius 1 unit.
Find the equation of cirlce passing through the points (1, 1), (5,-5) and (6, —4).

Find the equation of cirlce passing through the points (0, 1), (2, 3) and (-2, 5).

6 MARKS QUESTIONS

(Application)
Show that the points (0, 0), (1, 1), (5,-5), (6,—4), are concyclic.
Show that the points (2,—4), (3,-1), (3,-3), (0, 0), are concyclic.
Show that the points (1, 0), (2,-7), (8, 1), (9,—6), are concyclic.
Show that the following points (2,0), (-1, 3), (-2, 0) and ( 1, —1) are concyclic.
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